A & ol & AF & Ml A
20179 = =20& A= XIS

200 Al2l=+=¢

210 o HAM A=

09 i 0

216 Ol At ==& (&)
Z2-2-8-5 Oll &F o & E Ol At Hns2

= Al 5,445,803 4,845,252 600,551

200 M2l +=¢ 109,248 66,174 43,074

210 & HAN 2= 59,248 66,174 N 6,926

216 Ol Xt==¢ 59,248 66,174 26,926

216-01 33030l K== 59,248 66,174 6,926

< Fg=sX > 59,248 66,174 A 6,926
OXg= 0lX 59,248

220 SAIH A2l == 50,000 0 50,000

224 JIEt=¢ 50,000 0 50,000

224-06 12 =+¢ 50,000 0 50,000

< FUSXW > 50,000 0 50,000
OXtg SSAYH Bte =23 50,000

700 EX =AU SHUENH 5,336,555 4,779,078 557,477

710 Ed S 4,936,555 4,379,078 557,477

714 Ol X1 3 &l = 4,936,555 4,379,078 557,477

714-01 OIXI =&l = 4,936,555 4,379,078 557,477

< FUSEX W > 4,936,555 4,379,078 557,477
o2l Gl xl= 4,936,555

720 LH S A ch 400,000 400,000 0

721 dY= 400,000 400,000 0

721-03 JIEtSI H A L = 400,000 400,000 0

< FUSFX D > 400,000 400,000 0
OgetaA M= 400,000




N & o & AF & H Al A
20179 & 204 A= X023 ®A
AN =S
Hu: Lo=XEA
gelr LoSXII2 43 (AMI=EXII2) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
==X 5,445,803 4,845,252 600,551
LosXNsd 26,000 26,000 0
Lo=EXII2 g4aH(MI=EXII3) 26,000 26,000 0
heteolsl Wa=ZXs X 26,000 26,000 0
307 glz2t0ol & 26,000 26,000 0
02 HAHFHAANGFEX 26,000 26,000 0
ougt=olg Ya2X3 XA 26,000
FANES SXNST 36,187 36,927 AT740
ZOHISXINZ L (AE=XDI3) 19,187 18,927 260
ZOHIAE S XIS XA 19,187 18,927 260
307 glz2tol & 19,187 18,927 260
02 HIAFLAHFEX 19,187 18,927 260
O HAE S XIS X&A 19,187
HASZUSEXII3 483 (AESXI2) 17,000 18,000 A 1,000
WIS E 2URES & 7,200 18,000 A 10,800
301 et A=z 7,200 18,000 A 10,800
01 AR 2Z A 53 7,200 18,000 10,800
OgISEd =2RE=s NE 7,200
NETEdse X 9,800 0 9,800
307 gl2tol & 4,800 0 4,800
02 IS AHE L 4,800 0 4,800
OXgxadH X 4,800
501 8Xt3 5,000 0 5,000
01 22t Xt= 5,000 0 5,000
OFNEEZAN X2 AS 5,000
HEd=REsH 24,000 26,000 A 2,000
HE=X2I3 g4s(AMaI=X013) 24,000 26,000 A 2,000
HEeHAME2s & 24,000 26,000 A 2,000
307 glz2tol & 24,000 26,000 A 2,000
02 IZtE M AMHEE 24,000 26,000 A 2,000
odgergas XN 10,000
Osl=82Y & 2,000
Ootol2elor WekXIsl X 2,000
OsEHY XA 2,000
OatlRtnss2s XA 2,000
oeooiLa XI& 2,000
OFYTRHASAME K& 2,000




2AN: F=SX
M. s
S 82102 243 (AEX012) (ct
SA-HB .Y (BH) - MBPAY - B2 o A o SSa HDS
| | | SEEEEEEERE 2,000
HEees (==X 5,359,616 4,756,325 603,291
BEXNE(MIEXINS) 5,359,616 4,756,325 603,291
BEIE(0X2) 5,359,616 4,756,325 603,291
602 Ol Xl = 5,359,616 4,756,325 603,291
01 WIXlI2 5,359,616 4,756,325 603,291
=871 WXl 5,359,616






